Multiplying a Monomial by a Trinomial (A)
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Simplify each expression.

65°(—3s* — 25% 4 %)

56°(4b° — 8b* 4 9b%)

st(—s* + 95 + 257%)

—524 (=2 + 322 + 52)

—85%(25% + 45 — 25)

a’(—9a* — 9a® + 4a?)

3 (=3f7 —2f+1)

8p*(—9p® — Tp” + 3p)

—6r3(7r® — 5r® + 4r)

- —2n3(5n* + Tn — 6)
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Multiplying a Monomial by a Trinomial (A) Answers
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65°(—3s* — 25% 4 %)

— 185" — 1258 + 657

503 (40° — 8bt + 9b®)

— 200% — 400" + 45b°

st(—s* +9s% + 23?)
= —s%+ 95" + 24°

—524(=2? +‘3z2 + 52)
— 527 —152% — 252°

—857(25 + 457 — 25)
— —165% — 325° + 16s?

*(—9a* — 9a® + 4a?)
= —9a” — 9a® + 4a”

3f°(=3f* —2f +1)
= —9f"—6f0+3f°

8p'(—9p® — Tv* +3p)
= —72p" — 56p° + 24p°

—6r°(7r® — 5r? + 4r)
= —42r% + 30r° — 247

- —2n°(5n* + Tn — 6)

— —10n° — 14n* + 1203

Simplify each expression.
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